D V2+2 @ 2v2-2 ® 42
@ 442-2 G 5v2 -2
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3.  sin0° xtan0° — cos0° 9] ZF2 A, sin 90° x cos 90° + tan 0° 9] &t

B2t & of, B- A 9] gk2?

D -2 2 -1 ® 0 @ 1 B 2



4.  /(sinx+1)2+ /(sinx—1)2 & gk2? (2, 0° <x<90°)

D1 ® 2 ® 3 @ 4 ® 5



The F0l EE B x4y o e FoIH?

2te sin cos ‘ tan

14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493

@ 28° @ 29° 3 30° @ 31° ® 32°
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7. He E76A &2 Ae BF AE 27

@ sin®30° + cos?60° =1
O sin30° = cos30° x tan 30°
© sin30° 4+ sin60° = sin90°

1

@ tan30° = m

ORON® ® 0,6 ® 06
® 9,0, ® O, e,



8.

/x = 60° & o, (5 —smx) (1+ tanx) 9] g7

@D -2 @ -1 3 0 @ 1



\/(cosA —sinA)? + \/(simA+cosA)2 = V2 4 o, tanA ©] F2?
(HF, 0°<A<45°)

@D 242 @ 2 B® V3 @ 1 ® 0



10. o2 1299 AABC = AB = lem, ZABC = 90°, D
/CAB = 60° 1 HZ}ztgo|1, AC = CD °|t}.
olmff, tan 75° O] Fk2?

D 24+ V3 @ 1+ V3 ® V3
@ 2+ 2 ® 1+ V2



11, ohe AHZhIo] 3L 2he Z1e el sy

1=

=7
@ sindb5° ® cos0° © cos35°

@ sin75° ® tanb0° ® tan65°

0 ©-0-0-©-0-@ @ @-©--0-0-®
® @-0-0-©-0-® @ @-0-0-©-©-0©
B (©-0)-@-6E)-F)-@



12.

45° < x<90° Y W, V1 - 2sinxcosx+ VI + 2sinxcosx = 7+t
SHH?

@ —sinx @ —2sinx @ sinx

@ 2sinx B 3sinx

ol



13. o3 2ol /B = 90°¢1 A4
ABCOlA] 3cos A —sin A O] 2127

@ 1_2\/5 @ 2—2\/3
© 3- V3 @ 4- V3
2\/§ 2

® 2=

2




sin A + 2cos A
sin A — cos A

14. tanA=- 4 o, o] ZH-& +5hH?

DN | =

D 5 ® 3 3 1 @ -1 ®B =5
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15. o

®y=x+1

3

3

@y

® y=2x+1

= V3x+1



@ cos 80° © cos 0° © tan 0°

® cos 27° © sin 15°

© 0606060 2 0.6,6,0,.0
® 9,6.0,0,e ® ©06,0,e,0
® O, 6,0, 0,



b94 371%.

@D 0°

- (
0

V3+1x+ V3=09 F &2 tana, tanb 2t3L
(&, tana < tanb , a,b = 1Z})

@ 30° B3 45° @ 60° ® 80°

el



18. th& 139 AZ429 ABC olA BAD = x, /DAC =y 2t & ),
12(tan x + tany) o] 22

@D 10 @ 12 ® 15 @ 20 ® 25



19.

o2 93 o] oF Aol Aolrt 4 <l
JAFHA] A - BCD °[l4 BC 9] $82 E @
1At LAED = x € o, cosx 9 #H2?

@
@

1 2
@31 ® 2
© %

O M| —




20. the 2} 2ol WAIEe Wolrk1 Al RN thE BE ol gl

o] BD 9] do|& +otH?
yi\
1.0724 C
1 A
:'E .
0] B D T
(afZtd|e] #)
% sin z cos T tan =
43° 0,6820 0.7314 0.9325
44° 0.6947 0,7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1.0355
47° 0,7314 0.6821 1.0724
@ 0.2807 @ 0.3179 3 0.6821

@ 0.7314 3 0.9657



